Proposal No N/8/1539/2/7/117643

Institute

Govt. Girls College Dantewada

Scheme

Post Matric ST Scholarship



Proposal Date Academic Year

13/03/2019 2018-19

Proposal Type

Fresh

11508967 SHAMO KARMA	Female/	HS/60000	1	0 570	570	0	0 17	47 1747	ALCOHOLD .	The second second second second second
2 1502712 ANKITA BHOGAMI	Female/S	T HS/45000		570	5130	-	-			7447 STATE BANK OF INDIA/DANTEWARA/33509078089
3 1518534 BABITA TAMO	Female/S	T HS/57000	10		Philippin record to be the control of the control o		0 17-	47 1747	6	STATE BANK OF INDIA/NAKULNAR/33978582265
4 1501125 GALLO BHASKAR	Female/S		10	5,0	5700		0 174	1747	7	PUNJAB NATIONAL BANK/DANTEWADA/494900150000277
5 1518142 SARASWATI TEKAM	Female/ST	115,50000		0,0	5700		0 174	7 1747	74	147 PUNJAB NATIONAL
6 1535649 ANJU KADIYAM	Female/ST	, , , , ,	10	570	5700	C	174	1747	74	BANK/DANTEWADA/494900150000276 47 CENTRAL BANK OF
1545477 BAMLESHWARI PUJARI		HS/50000	10	570	5700	0	1722	1722	74.	INDIA/DANTEWADA/3410724958 CHATTISGARH GRAMIN BANK/AII
8 1530672 SAVITRI RANA	Female/ST	DS/60000	10	300	3000	0	1747	1747		F7 STATE BANK OF INDIA/MDER
	Female/ST	HS/60000	10	570	5700	0	1747	1747		BODHGHAT/35883174926 7 CHATTISGARH GRAMIN BANK/AII
9 1532345 RINKI BHOGAMI	Female/ST	DS/55000	10	300	3000	0	1747	1747	_	Branches/77008463313 7 CENTRAL BANK OF
10 1517604 PHULMATI BHOGAMI	Female/ST	DS/55000	9	300	2700	0	1747	1747		INDIA/DANTEWADA/3382057212
11 1587869 PAWANI NAG	Female/ST	DS/70000	10	300	3000	0			4447	CENTRAL BANK OF INDIA/DANTEWADA/3380918297
12 1528349 MUNNI VEK	Female/ST	DS/50000	9	300			1722	1722	4722	CENTRAL BANK OF INDIA/DANTEWADA/3363041737
3 1508796 SAVITA MODIYAM	Female/ST	HS/45000			2700	0	1747	1747	4447	STATE BANK OF INDIA/GEEDAM/34294456420
	3310/51	115/75000	10	570	5700	0	1747	1747	7447	STATE BANK OF INDIA/AWAPALLI/33403012787

Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Danteurda Date : 15.03.2019

(Signature & Seal of Head of the Institution) Name (Capital Leters) ncipal This Proposal is generated by Scholarship Portal Find on \$13/2019

College Dantewada (S.B.) C.G.

NIC

Proposal No

N/8/1539/2/7/117643

Institute

Govt. Girls College Dantewada

Scheme

Post Matric ST Scholarship



Proposal Date

Academic Year

Proposal Type

2018-19 Fresh

13/03/2019

15	1	159 KAMALUAI KASHYAP	Female/s	DS/50000	1	300	2700	0	1722	1/22	442.	CANARA DAMA, SCODAM
0	15448	57 SUNITA NETAM	Female/ST	HS/60000	10	570	5700	0	1722	1722		DANTEWADA/5577120000199
16	15933	54 MAMTA BHASKAR	Female/ST	DS/60000	10	300	2000		-,	1/22	7422	STATE BANK OF INDIA/GEEDAM/34074297822
27	154517	71 NEELA VETTI	Female/ST	HS/60000		300	3000	0	1747	1747	4747	CANARA BANK/GEEDAM DANTEWADA/5577120000776
18	155743	2 RUPA GATPALLI	r cmale/31	H3/60000	10	570	5700	0	1722	1722	7422	STATE BANK OF
			Female/ST	HS/55000	10	570	5700	0	1747	1747	7447	INDIA/DANTEWARA/35112713585
19 1	155095	8 KAVITA KADTI	Female/ST	HS/45000	10	570	5700				/44/	STATE BANK OF INDIA/AWAPALLI/32642855450
20/1	550371	NILEEMA MARKAM	Female/ST	HS/70000	***************************************			0	1747	1747	7447	STATE BANK OF INDIA/AWAPALLI/32642855381
		HEMLATA MARKAM		113/70000	10	570	5700	0	1747	1747	7447	CENTRAL BANK OF
-			Female/ST	HS/52000	10	570	5700	0	1722	1722	7422	INDIA/DANTEWADA/3704703821
22/15	539909	KUMARI NETAM	Female/ST	HS/65000	10	570	5700					UCO BANK/CHHINDGARGH/100301100544
23 15	41031	SUMITA KASHYAP	Female/ST	DS/50000				0	1747	1747	7447	STATE BANK OF INDIA/KONDAGAON/35187084614
24/154	49446	MAMILA WASAM		D3/30000	10	300	3000	0	1747	1747	4747	CENTRAL BANK OF
/			Female/ST	HS/55000	9	570	5130	0	1747	1747	I	NDIA/DANTEWADA/3367498257
156	51850	SANTOSHI MANDAVI	Female/ST I	DS/60000	9	300	2700				08// E	CHATTISGARH GRAMIN BANK/AII Branches/77014360966
6 154	9960 R	ZANJITA BARSE	Female/ST H	1S/35000	***************************************	THE STREET STREET, A SHAREST STREET, AND ASSESSED.	2700	0	1747	1747	4447 S	TATE BANK OF
				13/33000	9	570	5130	0	1722	1722	6852 S	NDIA/DANTEWARA/33506172494 TATE BANK OF
1309	3-122 K	AMESHWARI NETAM	Female/ST H	IS/60000	9	570	5130	0	1747	1747	I	NDIA/AWAPALLI/34176670267
clara	tion :		1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	0.00 to -0.00 to 10.00 to 10.0					,	., 1,	08// 5	TATE BANK OF IDIA/KONDAGAON/35165996207

Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period (is detected)

(Signature & Seal of Head of the Institution)

Name (Capital Leters) rincipa

Proposal No N/8/1539/2/7/117643

Institute Govt. Girls College Dantewada

Scheme Post Matric ST Scholarship



Proposal Date

13/03/2019

Academic Year

2018-19

Proposal Type

Fresh

	1			-						apple of	.2	
~		AARTI PODIYAMI	Female, 51	H5/60000	1	570	570		1747	7 1743	74	DANTEWARA/38003880922
-	29 1548789	SUJATA BURKA	Female/ST	HS/55000	10	570	5700	0	1747	1747	744	7 STATE BANK OF INDIA/AWAPALLI/34250075502
V	1544983	KOUSHILYA NAG	Female/ST	HS/45000	9	570	5130	0	1747	1747	687	7 STATE BANK OF INDIA/MPEB BODHGHAT/33475934627
3	1 1509685	NIRMALA ALAMI	Female/ST	HS/60000	10	570	5700	0	1722	1722	7422	STATE BANK OF INDIA/GEEDAM/33446688653
√ 3	1534691	RUKMANI MODIYAM	Female/ST	HS/40000	10	570	5700	0	1747	1747	7447	STATE BANK OF INDIA/AWAPALLI/32642855358
3	1528787	POOJA NETAM	Female/ST	DS/57000	9	300	2700	0	1747	1747	4447	CHATTISGARH GRAMIN BANK/All Branches/77013865482
3	1527604	MINAKSHI SORI	Female/ST	DS/45000	10	300	3000	0	1747	1747	4747	STATE BANK OF INDIA/DANTEWARA/33984742585
35	1543217	RUKMANI KOWASI	Female/ST	DS/36000	10	300	3000	0	1747	1747	4747	STATE BANK OF INDIA/GEEDAM/33415254859
36	1528811	REETA KASHYAP	Female/ST	HS/60000	9	570	5130	0	1747	1747		STATE BANK OF INDIA/GEEDAM/34294456328
37	1478902	BUDHARI KASHYAP	Female/ST	DS/40000	10	300	3000	0	1747	1747		STATE BANK OF INDIA/COLLECTORATE DANTEWARA/37274007635
38	1547886	ALITA KURSAM	Female/ST	HS/55000	9	570	5130	0	1747	1747		STATE BANK OF INDIA/AWAPALLI/34166336111
39	1557808	RMA BHAGYASHRI	Female/ST	HS/50000	10	570	5700	0	1720	1720		STATE BANK OF NDIA/BIJAPPUR/36045196936
						No. of Lot				-	1.5	是"有种"的"一种"。
	1523673 S	Science/I ALVAM MANJU	Female/ST	HS/50000	10	570	5700	0	1772	1772		TATE BANK OF NDIA/KONTA/37998061340

Certified that this institution is affiliated to Byx..... Jandah Rose University/Board and is recognized by the Government of India/State Government of Us had his service of the control of the con Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is getected.

Place: Darbewaly Date: 15:05:2019

(Signature & Seal of Head of the Institution) Name (Capital Leters)

This Proposal is generated by Scholarship Portal Printed on 3/13/2019

Page 3/7

Proposal No

N/8/1539/2/7/117643

Institute

Govt Girls College Dantewada

Scheme

Post Matric ST Scholarship



Proposal Date

13/03/2019

Academic Year

2018-19

Proposal Type

Fresh

	,										1	
San	1554589	SALVAM SOME	Female/ST	HS, 50000	9	570	5130	1	1772	1772	6902	DENA BANK/DANTEWADA/194010033789
42	1540428	PUJA KUNJAM	Female/ST	HS/50000	10	570	5700	C	1772	1772	7472	CENTRAL BANK OF INDIA/DANTEWADA/3367518810
43	1539460	VARSHA KARAM	Female/ST	HS/35600	9	570	5130	0	1772	1772	6902	STATE BANK OF INDIA/KONTA/37925064507
V44	1548446	LAXMI KUMETI	Female/ST	HS/50000	9	570	5130	0	1772	1772	6902	STATE BANK OF INDIA/ANTAGARH/33526786354
45	1538938	JAMUNA KUNJAM	Female/ST	DS/70000	10	300	3000	0	1772	1772	4772	STATE BANK OF INDIA/KIRANDUL/33496738425
46	1529231	BHUNESHWARI DHRUW	Female/ST	HS/60000	9	570	5130	0	1772	1772	6902	CENTRAL BANK OF INDIA/DANTEWADA/3367481301
AT	1509973	MEENA BAGHEL	Female/ST	HS/40000	10	570	5700	0	1772	1772	7472	UCO BANK/CHHINDGARGH/10033211000549
48	1540693	JAYANTI NEGI	Female/ST	HS/50000	9	570	5130	0	1772	1772	6902	UCO BANK/CHHINDGARGH/10030110027851
49	1538985	HAPKA JAISHRI	Female/ST	HS/15000	10	570	5700	0	1772	1772		STATE BANK OF INDIA/KONTA/34010774505
50	1530842	VIMLA KAWASI	Female/ST	HS/50000	10	570	5700	0	1772	1772		STATE BANK OF INDIA/SUKMA/33364559357
51	523320	POOJA KORAM	Female/ST	HS/40700	10	570	5700	0	1772	1772	7472	STATE BANK OF INDIA/BHOPALPATNAM/34087964949
	1	SARITA KARMA	Female/ST	DS/80000	9	300	2700	0	1772	1772	4472	CANARA BANK/GEEDAM DANTEWADA/5577108001373
-	p	SANGEETA MANJHI	Female/ST	HS/40000	10	570	5700	0	1772	1772	7472	UCO BANK/CHHINDGARGH/10030110027332
			Female/ST	HS/25000	9	570	5130	0	1772	1772	6902	STATE BANK OF INDIA/SUKMA/35799970264
54 1	540432	SALONI VETTY	, cindic, si	,								

Certified that this institution is affiliated to have a supply University/Board and is recognized by the Government of India/State Government of Libathi's supply University/Board and is recognized by the Government of India/State Government of India/St Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. (Signature & Seal of **Read city Re** Institution)

Page 4/7

Name (Capital Levernendra karma Girls

This Proposal is generaled the sub-band evided and \$41572019

Proposal No: N/8/1539/2/7/117643

Institute : Govt Girls College Des

Govt. Girls College Dantewada

Scheme: Post Matric ST Scholarship



Proposal Date

13/03/2019

Academic Year :
Proposal Type :

2018-19 Fresh

5 1539284 TULSI KARTAM	Format 1999					di-				
	Female/ST	HS/50000	10	570	5700	0	1772	1772	74	72 STATE BANK OF
S6 1556863 YALAM PRIYANKA	Female/ST	HS/45000	9	570	5130	0	1772	1772		INDIA/BHAIRAMGARH/34005635558
57 1528663 SUMAN MADKAM	Female/ST	HS/70000	9	570	5130					UNION BANK OF INDIA/Bijapur/655202010003602
58 1542455 RANJANA PAINKRA	Female/ST	HS/70000	9	570		0	1772	1772	690	2 STATE BANK OF INDIA/SUKMA/33804165636
59 1558117 RAJESHWARI KASHYAP	Female/ST				5130	0	1772	1772	690	2 STATE BANK OF
60 1522310 KAMNI MANDAVI		HS/60000	9	570	5130	0	1772	1772	6902	INDIA/GEEDAM/33446688664 STATE BANK OF INDIA/MPEB
	Female/ST	HS/60000	10	570	5700	0	1772	1772		BODHGHAT/33263352266 PUNJAB NATIONAL
61 1548805 RAMNA UIKA	Female/ST	HS/40000	10	570	5700	0	1772	1772		BANK/SUKUMA/7243001500017484
62 1556962 SANGEETA KUNJAM	Female/ST	HS/44000	10	570	5700				/4/2	STATE BANK OF INDIA/AWAPALLI/33415973623
63 1539708 KORSA SAILATA	Female/ST	HS/40000	9			0	1772	1772	7472	STATE BANK OF INDIA/GEEDAM/34077266186
64 15238 53 KAWASI DEVE			9	570	5130	0	1772	1772	6902	STATE BANK OF
	Female/ST	HS/60000	9	570	5130	0	1772	1772	6902	INDIA/KONTA/34010775087 PUNJAB NATIONAL
65 1550616 RANJITA JAWWA	Female/ST	HS/40000	9	570	5130	0	1772	1772		BANK/SUKUMA/7243001500015990
66 1526489 MADHVI MUCHAKI	Female/ST	HS/40000	9	570	5130	0			6902	STATE BANK OF INDIA/AWAPALLI/32642855267
67 1490809 SUMILA POYAM	Female/ST	DS/50000	9		AND BUT FOR COMMAND AND AND AND AND AND AND AND AND AND	U	1772	1772	6902 l	JCO BANK/CHHINDGARGH/10030110027653
68 1590351 ANITA ALAMI				300	2700	0	1772	1772	4472 9	STATE BANK OF
	Female/ST	DS/50000	9	300	2700	0	1772	1772	4472 5	NDIA/GEEDAM/34001297157 TATE BANK OF
eclaration :			A						I	NDIA/GEEDAM/34179314761

Place: Dantewader Date: 15,03,2019

(Signature & Seal of Head of the institution)

Name (Capital Leters):

Sout Mahendra karma Girls

NIE

Page 5/7

This Proposal is generated by Scholarship Portal Printed 9.13/13/2019

Proposal No N/8/1539/2/7/117643

Institute

Govt. Girls College Dantewada

Scheme Post Matric ST Scholarship



Proposal Date

13/03/2019 2018-19

Academic Year Proposal Type

Fresh

							4-0 (Annual Street	American Services	A CONTRACTOR OF THE PROPERTY OF THE PARTY OF
1500156 KAVITA NAG	Female/ST	DS/62000	10	300		2000	1		i S di		Lake to
70 1507968 MADKAM KAMALA			10	300		3000	0	1772	1772	4772	STATE BANK OF
THORAT NAMALA	Female/ST	HS/35000	9	570		5130					INDIA/NAKULNAR/35979983099
71 1487996 PRATIBHA MADVI	-			0,0		130	U	1772	1772		STATE BANK OF
TOUR MADVI	Female/ST	DS/55000	9	300	-	700					INDIA/KONTA/33981736562
				300	•	.700	0	1772	1772	4472	STATE BANK OF INDIA/COLLECTORATE
											DANTEWARA/36100301269

Declaration:

Certified that this institution is affiliated to Comment of University/Board and is recognized by the Government of India/State Government of Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Danhewode Date: 1503.2019

(Signature & Seal of Head of the Institution)
Name (Capital Letters)



Proposal No N/8/1539/2/7/117643

Scheme

Institute : Govt. Girls College Dantewada

Post Matric ST Scholarship



Proposal Date

Proposal Type

13/03/2019 2018-19

Academic Year.

Fresh

inches market						A CONTRACTOR OF THE PARTY OF TH					
	99730 LALITA NAG	Female/ST	DS/80000	12	530	6360		0 167	7 1677	803	7 STATE BANK OF INDIA/COLLECTORAT
	7226 PREETI BHUARYA	Female/ST	DS/45000	12	530	6360		0 167	7 1677		DANTEWARA/37650023933 7 STATE BANK OF
	6530 SUNITA NO SURNAME 8070 Sangita Barse	Female/ST	HS/60000	12	820	9840	(1677	7 1677	11517	INDIA/GEEDAM/35195815079 STATE BANK OF INDIA/DANTEWARA/32200779422
	0738 SUNITA URSA	Female/ST	HS/35000	12	820	9840	C	1677	1677	11517	STATE BANK OF INDIA/KONTA/31949647018
	9061 reetu bhavani	Female/ST	HS/198400	12	820	9840	0	1677	1677	11517	STATE BANK OF INDIA/BHAIRAMGARH/31934964861
_		Female/ST	HS/50000	12	820	9840	0	1677	1677		STATE BANK OF INDIA/DANTEWARA/34096237481
	838 RANJITA HAPKA	Female/ST	DS/45000	12	530	6360	0	1677	1677	8037	STATE BANK OF INDIA/AWAPALLI/33427971418
	082 KESHARI THAKUR	Female/ST	DS/50000	12	530	6360	0	1677	1677		DENA BANK/Balod/155610041291
1	755 SUKMATI KUNJAM	Female/ST	DS/50000	12	530	6360	. 0	1677	1677	8037	AND REAL PROPERTY AND ADDRESS OF THE PARTY O
	358 MADHURI MARKAM	Female/ST	DS/60000	12	530	6360	0	1677	1677	8037	STATE BANK OF INDIA/BACHELI/10932536312
	177 URVASHI MARKAM	Female/ST	DS/55000	12	530	6360	0	1677	1677	8037	
83 1401	565 RENUKA THAKUR	Female/ST	DS/35000	12	530	6360	0	1677	1677	8037	
		TC	TALS:	one chanadas		428400		144734	144734	573134	, 15 101005 1511

Declaration:

Certified that this institution is affiliated to D.Y.Y. Jay Jay Noviniversity/Board and is recognized by the Government of India/State Government of Malaystate Government

Place: Dantewada Date: 15.03.2019 (Signature & Seal of Head of the Institution)
Name (Capital Leters | Incipal



Page 7/7

This Proposal is generated by Scholarship Portal, Printed on 3/13/2019
College Dantewada (S.B.) C.G.

Proposal No R/8/1539/2/7/117373

Institute Govt. Girls College Dantewada

Scheme Post Matric ST Scholarship



Proposal Date

13/03/2019

Academic Year

2018-19

Proposal Type

S.No. Ap	pp. ID Student Name	THE PERSON NAMED IN	-		-					Порс	sal Type : Renewal
	Course : R. A./Arts/II	Gender /Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance		Other Fee	Total Fee	Total Scholarship	
Course : I	B. A./Arts/II	THE PERSON NAMED IN	THE PARTY OF	A SECTION	N. STOR	3.030					
1 54	12429 AMRITA KUHRAMI	Female/ST	LIC (FOODS			CONTRACT OF THE PARTY OF THE PA					
-	37252 KUSUM MANDAVI	The second secon	HS/50000	10	570	5700	0	1637	1637	7337	STATE BANK OF INDIA/BHAIRAMGARH/32473440275
		Female/ST	DS/236436	10	300	3000	0	1637	1637	4637	CENTRAL BANK OF
3 159	9123 LAXMI BHASKAR	Female/ST	DS/60000	10	300	3000	0	1637	1637	4637	INDIA/DANTEWADA/3289761420 CENTRAL BANK OF
4 149	0602 SANGITA NETAM	Female/ST	DS/60000	10	700						INDIA/DANTEWADA/3293304058
	3413 DASO KASHYAP	THE REAL PROPERTY AND ADDRESS OF THE PARTY AND	·	10	300	3000	0	1637	1637	4637	STATE BANK OF INDIA/GEEDAM/33331659780
		Female/ST	HS/60000	10	570	5700	0	1637	1637		CANARA BANK/GEEDAM DANTEWADA/5577108001360
67136	5417 LALITA MARKAM	Female/ST	HS/40000	10	570	5700	0	1637	1637	7337	UCO
7 1363	IHLIAM ULIAM 8888	Female/ST	HS/60000	10	570	F700	(2)				BANK/CHHINDGARGH/1003011004457
8 1385	336 MANJLI VENJAM		***************************************	10	370	5700	(10)	1637	1647		STATE BANK OF INDIA/BIJAPPUR/33154447299
		Female/ST	HS/40000	10	570	5700	0	1637	1637	7337	BANK OF BARODA/BASTANAR, CHHATTISGARH/23590100008489
	651 LAXMI MARKAM	Female/ST	DS/45000	9	300	2700	0	1637	1637	4337	CHATTISGARH GRAMIN BANK/AII Branches/77012136471
	159 YALAM SANDIYA	Female/ST	DS/45000	9	300	2700	0	1612	1612	4312 9	STATE BANK OF NDIA/AWAPALLI/34250316415
11 1400	337 NEHA POYAM	Female/ST [DS/60000	10	300	3000	0	1637	1637	4637 C	ENTRAL BANK OF
12 13472	239 RADHA TAMO	Female/ST [DS/57000	10	300	3000	0	1637	1637		NDIA/DANTEWADA/3414639560
12 15255	508 SUNITA BHOGAMI	F 1 100					<u> </u>	1037	103/		ENTRAL BANK OF NDIA/DANTEWADA/3289768482
15355	DUO SUNITA DHUGAMI	Female/ST	OS/80000	10	300	3000	0	1637	1637	4637 S	TATE BANK OF NDIA/DANTEWARA/33557099738

Declaration:

Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period to the authority for eventual discontinuance of scholarship/stipend from the period to the authority for eventual discontinuance of scholarship.

Place: Demrewater Date :

(Signature & Seal of Head of the Institution) Name (Capital Leters) Cipal

Proposal No: R/8/1539/2/7/117373

> Institute: Govt. Girls College Dantewada

Scheme: Post Matric ST Scholarship



Proposal Date

13/03/2019

Academic Year:

2018-19

Proposal Type:

Renewal

		Student Name	Gender /Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Scholarship	
	and the same of th	PRATIBHA BHOGAMI	Female/ST	HS/62000	10	570	5700	0	1637	1637	7337	STATE BANK OF INDIA/DANTEWARA/33297592515
		/Arts/III			A STORY			TOTAL STATE OF THE PARTY OF THE	transcription or the state of t		MATERIAL STREET, ALL TO SELECT AND ADDRESS.	
	2	JAYANTI NO SURNAME	Female/ST	HS/50000	10	570	5700	0	2012	2012	7712	STATE BANK OF INDIA/DANTEWARA/32556422592
16		LALITA RAWTE	Female/ST	HS/57000	10	570	5700	0	2037	2037	7737	STATE BANK OF INDIA/NAKULNAR/35892082625
17		SONIYA NO SURNAME	Female/ST	DS/48000	10	300	3000	0	2037	2037		STATE BANK OF INDIA/DANTEWARA/33332986002
18	A. Company	MAMILA NO SURNAME	Female/ST	HS/110000	10	570	5700	0	2012	2012		STATE BANK OF INDIA/BHAIRAMGARH/34250607006
19		SUDHA WACHAM	Female/ST	HS/50000	10	570	5700	0	2012	2012	7712	STATE BANK OF INDIA/NAIMED/34966515396
20	,	PRIYANKA PUNEM	Female/ST	DS/50000	10	300	3000	0	2012	2012		CHATTISGARH GRAMIN BANK/All Branches/77060473306
21	/	SANDHYA SARIYAM	Female/ST	HS/38000	10	570	5700	0	2037	2037		CENTRAL BANK OF INDIA/DANTEWADA/3726898702
	1	VANJAM LAXMI	Female/ST	HS/60000	10	570	5700	0	2012	2012		CENTRAL BANK OF INDIA/DANTEWADA/3947036393
23		Sarojni Sodi	Female/ST	HS/65000	10	570	5700	0	2037	2037		STATE BANK OF INDIA/KONTA/35968914685
	1507164	PRERNA KUPAL	Female/ST	DS/50000	10	300	3000	0	2012	2012		STATE BANK OF INDIA/DANTEWARA/33272573056
25	1448690	PRAMILA TELAM	Female/ST	HS/63000	10	570	5700	0	2037	2037		STATE BANK OF INDIA/BHAIRAMGARH/31934964996
26	837546	LAXMEE TELAMI	Female/ST	HS/80000	10	570	5700	0	2012	2012		STATE BANK OF INDIA/BHAIRAMGARH/32504842541

Declaration:

Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period t is detected

Place: Darrewoody Date: 15.03.2019

(Signature & Seal of Head of the Institution)
Name (Capital Leters)

Proposal No : R/8/1539/2/7/117373

Institute: Govt. Girls College Dantewada

Scheme: Post Matric ST Scholarship



Proposal Date:

13/03/2019

Academic Year :

2018-19

Proposal Type:

Renewal

S.No. App. ID Student Name	Gender /Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance		Other Fee	Total Fee	Total Scholarship	
23 305514 Meena No Surname	Female/ST	HS/60000	10	570	5700	0	2037	2037	7737	STATE BANK OF INDIA/DANTEWARA/32533256052
28 1458874 SAYTO MARKAM	Female/ST	HS/36000	10	570	5700	0	2037	2037	7737	CENTRAL BANK OF INDIA/DANTEWADA/3595714404
29 1448904 SANGEETA NAG	Female/ST	HS/60000	10	570	5700	0	2037	2037		STATE BANK OF INDIA/DANTEWARA/32534942629
30 1056657 SUNITA NO SURNAME	Female/ST	DS/68000	10	300	3000	0	2037	2037		STATE BANK OF INDIA/DANTEWARA/33333356182
31 860725 AARTI PINNAPALLI	Female/ST	DS/50000	10	300	3000	0	2037	2037		STATE BANK OF INDIA/BHOPALPATNAM/32593795571

Declaration:

Certified that this institution is affiliated to by impriversity/Board and is recognized by the Government of India/State Government of Marketsed copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Danteualer Date: 15,03,2019

(Signature & Seal of Head of the Institution)
Name (Capital Leters): Principal

Proposal No R/8/1539/2/7/117373

> Institute: Govt. Girls College Dantewada

Scheme: Post Matric ST Scholarship



Proposal Date:

13/03/2019

Academic Year : 2018-19

No. App. ID Student Name	THE PARTY NAMED IN	THE LOCAL PROPERTY OF THE PARTY	THE PERSON NAMED IN						гюро	sal Type: Renewal
	Gender /Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Scholarship	
ourse : B. Sc./Science/II	CARLES NO.	N. C. C. C. C.								
32 1371751 KARTAM GANGEE	Female/ST	LIC/FORGE								
	r cmale/51	HS/50000	10	570	5700	0	1662	1662	7362	CENTRAL BANK OF
33 1546292 JYOTI JAWWA	Female/ST	HS/55000								INDIA/DANTEWADA/3287932864
24	- Smale/51	113/33000	10	570	5700	0	1662	1662	7362	STATE BANK OF
34 1389742 SARITA MANDAVI	Female/ST	HS/80000	10	570				-		INDIA/AWAPALLI/32642855245
35 1461070 CHI OCHANI		,	10	3/0	5700	0	1662	1662	7362	CENTRAL BANK OF
35 1461070 SULOCHANA NAG	Female/ST	HS/41000	10	570	5700	0	1662			INDIA/DANTEWADA/3727525807
36 1371091 VETTI MONA				3,0	3700	U	1662	1662	7362	STATE BANK OF
TOTAL VETTI MONA	Female/ST	HS/50000	10	570	5700	0	1662	1662	7262	INDIA/KONTA/33191220557
37 1361660 SOYAM KAREENA		-				٦	1002	1002	/362	STATE BANK OF INDIA/DANTEWARA/33334501221
THE TOTAL CONTROL OF THE PARTY	Female/ST	HS/39200	10	570	5700	0	1662	1662		
38 1355146 NILISHA SALAM	Female/ST	HC/4F000	-					1002	7302	CHATTISGARH GRAMIN BANK/AII Branches/77037246033
1	r citiale/31	HS/45000	10	570	5700	0	1662	1662		STATE BANK OF
39 1267095 GALLE NO SARNAME	Female/ST	DS/25000	10	300						INDIA/DANTEWARA/35347039503
40 375 404		55/25000	10	300	3000	0	1662	1662		STATE BANK OF
40 1355494 MEENA SORI	Female/ST	HS/60000	10	570	5700					INDIA/DANTEWARA/35037480291
41 1468573 AARTI MANDAVI				3,0	3700	0	1662	1662	7362	CENTRAL BANK OF
AARTI MANDAVI	Female/ST	HS/36000	10	570	5700	0	1772	4770		INDIA/DANTEWADA/3727731693
42 1400629 REENA KASWASI	F				3730	٥	1//2	1772	7472	STATE BANK OF INDIA/COLLECTORATE
TO T	Female/ST	DS/70000	10	300	3000	0	1662	1662		DANTEWARA/38003880933
		3000	0	-502	1002	4662	CANARA BANK/GEEDAM DANTEWADA/5577120000005			

Declaration:

Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information (urnished by Attested copy or the same is attached for lactual verification of competent additions, above minimum and students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular the students in their applications are verified a round correct in case the applicant leaves institution of otherwise discontinues the studies or accepts any other students in their applications are verified accepts any other students in the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Date: 15.03, 2019

(Signature & Seal of Head of the Institution) Name (Capital Leters) : Principal

Proposal No : R/8/1539/2/7/117373

Institute: Govt. Girls College Dantewada

Scheme: Post Matric ST Scholarship



Proposal Date:

13/03/2019

Academic Year :

2018-19

Proposal Type:

Renewal

PARTY PARTY NAMED IN COLUMN	THE RESERVE OF THE PARTY OF THE	in the second									
	Student Name	Gender /Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance		Other Fee	Total Fee	Total Scholarship	
Course : P. Sc	./Science/III							3335		Y 25 St. 1987	HEALTH STOREST STORES
//	7 DEEPIKA MANDAVI	Female/ST	HS/46000	10	570	5700	0	2062	2062	7762	STATE BANK OF INDIA/KANKER/32579937300
	RUPA POYAM	Female/ST	DS/60000	10	300	3000	0	2062	2062	5062	STATE BANK OF INDIA/DANTEWARA/33682112454
ourse : M. A.	/Hindi/II	Marie Marie Co	4100 1814	1000	34						
//	Urmila Korram	Female/ST	HS/50000	12	820	9840	0	1677	1677	11517	PUNJAB NATIONAL BANK/DANTEWADA/4949000100034183
46 1394513	KU PALO KORRAM	Female/ST	DS/76000	12	530	6360	0	1677	1677		STATE BANK OF INDIA/NAKULNAR/32691773384
904894	RAMBATI POYAM	Female/ST	HS/50000	12	820	9840	0	1677	1677		STATE BANK OF INDIA/DANTEWARA/37016202281
48 200200	Amita Bhaskar	Female/ST	HS/50000	12	820	9840	0	1677	1677		STATE BANK OF INDIA/DANTEWARA/32531781673
		TC	TALS :			242880		86571	86581	329461	

Declaration:

Place: partemate

(Signature & Seal of Head of the Institution)
Name (Capital Leters)

Proposal No : R/8/1539/1/9/117648

Scheme:

Institute : Govt. Girls College Dantewada

Post Matric SC Scholarship



Proposal Date :

13/03/2019

Academic Year:

2018-19

No. App. ID Student Name			117648					Proposal Type : Renewal			
ourse : B. Sc./Science/III	/Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance	Tuition Fee		Total Fee	Total Scholarship		
1 1061967 MAMTA NO NAME	Female/SC	DC/Coope	10	300	Marie T	HE	0 2062	2062		STATE BANK OF INDIA/SUPELA (BHILAI)/34954808249	
		DS/60000			3000	0					
	T	OTALS:			3000		2062	2062	5062		

Declaration:

Certified that this institution is affiliated to 13 Value of Competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Darbehada Date: 15:03:2019

(Signature & Seal of Head of the Institution)
Name (Capital Letters Incident Agents Sirls
This Proposal is generated by Scholarship Portal, Printed on 3/13/2019
College Dantewada (S.B.) C.13/2019

N/8/1539/1/9/117650 Institute

Proposal No

Govt. Girls College Dantewada



Proposal Date: 13/03/2019

	Gender							Proposal Type: Fresh				
ourse : B. Sc./Science/I	/Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Scholarship			
1 1330059 SWETA CHAPDI 2 1520610 ANJALI KHUNTEY	Female/SC	HS/70000	10	570	5700	0	1772	1772		STATE BANK OF		
TOTAL KHONTEY	Female/SC	DS/200000	10	300	3000	0	1772	1772	4772	INDIA/AWAPALLI/35131810348 CENTRAL BANK OF INDIA/DANTEWADA/3479557691		

Declaration:

Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period/it is detected.

Place: Particulardy Date: 15.03.2019

Name (Capital Leterslincipal

Government of Chhattisgarh Proposal No: N/8/1539/3/10/117645 Proposal Date 13/03/2019 Institute : Govt. Girls College Dantewada 2018-19 Academic Year Fresh Proposal Type: Scheme: Post Matric OBC Scholarship **Bank Details** S.No. App. ID Student Name Total Total Other Rate Maintenence Tuition Hostel / Months Fee Scholarship Fee /Category Annual Allowance Fee. Income Course : B. A./Arts/I 2422 PUNJAB NATIONAL 1722 1 1591506 POOJA SONI 700 0 1722 BANK/DIMRAPAL/7611001700000878 Female/OBC DS/65000 10 70 Course : B. Sc./Science/II 2512 STATE BANK OF 1662 0 1662 850 INDIA/GEEDAM/36014758270 2 1481077 MADHU SAHU Female/OBC DS/46000 10 85

1550

Certified that this institution is affiliated to ... By Joseph Mouniversity/Board and is recognized by the Government of India/State Government of ... Chlory Sanh Certified that this institution is anniated to a second to the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by

Accessed copy of the same is accepted to incommend the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular tne students in their applications are verified & local control of the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. (Signature & Seal of Head of the Institution) Name (Capital Leters) Principal CHARMA

Place: Doubewaly Date: 15.63.2019

This Proposal is generated by Scholarship Pondi. Printed no. 3/3/1/2019 College Dantewada (S.B.) C.G.

TOTALS:

4934

3384

3384